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1. #include <stdio.h>
#define M(x,y) (x+y)
void main(void) {
printf(*%d”, 1+M(2,3)*4);

3. #include <stdio.h>
void main(void) {
int a, b, sum=0;
for (a=1; a<=3; a++)
for (b=1; b<=4; b++)
sum=sum+a;
printf(“%d" sum);
}

5. #include <stdio.h>
void g(int *, int *);
void main(void) {

int a=1, b=2, ¢=3:

printf(*%d%d%d" a,b,c);
}
void g(int *px, int *py) {

int temp;

temp= *px:

*px= *py;

*py= temp;
}

7. #include <stdio.h>
void main(void) {
int x=1, sum=0;
while (1) {
Yoty
if (x%2==0) continue;
sum+=x;
if (sum>=20) break;
}
printf(“%d”, sum);
}

g(&a,&b); g(&b,&c); g(&c,&a):;

2. #include <stdio.h>
void main(void) {
for (int i=1; i<=6; i++)
if (1(i<=4) || i<=2)
printf(“%d",i);
}

4. #include <stdio.h>

void main(void) {
int x=123, tmp;
while (x!=0) {
tmp=x%10:
x=x/10;
printf(“%d”, tmp);
}
}

6. #include <stdio.h>

void h(int);
void main(void) {
int x=5;
h(x);
printf(“%d”, x);
}
void h(int x)
{
++X;
printf(“%d”, x);
}

8. #include <stdio.h>

int f(int,int);
void main(void) {
printf(“%d", f(1,2));
}
int f(int x, int y) {
if (x>0 && y>0)
return f(x-1,y)+f(x,y-1);
else
return x+y;
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Let f(n)=1x2+2x3+...+nx(n+1).

(a) Write a non-recursive function to calculate f(n).
(b) Write a recursive function to calculate A(n).

Write a function that will ask for two positive integers, named x
and y, and return the result of /cm(x,y). For example, lem(8,12)
will return 24,

Write a program that will execute the pattern-matching problem.
For example, "ABC” can be found from “ACABCAC”, and then an
answer “YES” is gained.

Write a function to count the number of leaf nodes in a binary
tree.
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